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N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

CIELABUY triangle lightness t*

t* Yoc=Yw  nc=100,

t* ciELABu7 59 (YY) 259 (¥V,=18, Y,/100<Y<=Y, )
t*(3,6)=22,t* ,(18)=50,t*,(90)=103

1
1Y =18

Yn=3,6 ! Yy=90

CIELABuU7
tristimulus value difference
YoemYw  nc=100,
t* ciELaBu7 59 (Y/Y) Y259 (V=18 Y,/100<Y<=Y, )
log(dY) = (1/2,5) log[2,5¢,/58)] + [1-(1/2,5)] logY)

1

t*,=50, dY,=4,27, dY,/Y,=0,2377
log(dY)=4,27, m,=0,59 >
>

»
.

log (AY/Y) CIELABU7
S=(AYIY) tristimulus value sensitivity

Yoc=Yw nc=100
t* ciELaBu7 59 (YY) Y259 (V=18 Y,/100<Y<=Y, )
log(dY/Y)= log[2,5(Y,/58)] - (1/2,5) log{/Y,,)
= (1/2,5) log[2,5¢,/58)] - (1/2,5) logl)

CIELABuU7
tristimulus value contrast
Cr_(YIAY) Ync‘YW nc‘loo
t* ciELABu7 59 (Y/Y) Y259 (V=18 Y,/100<Y<=Y, )
log(Y/dY)= - log[2,5/,/58)] + (1/2,5) log{/Y,)
- (1/2,5) log[2,5(,,/58)] + (1/2,5) log¥)
*,=50, dY,=4,27, Y,/dY.~% ot .
— .

A

application
range

Y,=18
Yn=3.6  Yyw=90

CIELABUY relative triangle lightness t*/t*,

e, Yoc=Yw - nc=100,

tcieLagur 59 (YY) 259 (V=18 ¥,/100<Y<=Y, )
t(3,6)=22,t* ,(18)=50 t*,(90)=103

log(AY/AY,) CIELABUT relative
AYIAY tristimulus value difference
u Yoc=Yw nc=100,
tcieLasur 59 (Y/Y)25-9 (Y,=18, Y, /100<Y<=Y, )
log(dY/dY,) = [1~(1/2,5)] loglf/Y,)

et
Ya=3.6  Y\y=90
log [(AY/Y) 1 AYIY),] CIELABUT relative
tistimulus value sensitivit)
SISU=EYNIAYI), yotv S Ve ge

nc
tcieLasur 59 (YY) 259 (V=18 Y, /100<Y<=Y, )
logl(dYM/(AY/Y),] = - (1/2,5) logl/Y,)

10g[(dY/YY(dY/Y),]=0, m= s

=50, dY,=4,27 d¥,/Y,;=0,2377 |
1y,=18

Yn=3.6  Yw=90

log [(Y/AY) 1 (YIAY),] CIELABUT relative
tistimulus value contrast

ColCy = (YY), v 2y 2 2160

tcieLasur 59 (YY) 259 (V=18 Y, /100<Y<=Y, )
logl(Y/dY)/(Y/dY),] = (1/2,5) logiY/Y,)

application
range

Y,=18
VNE3601 Y =90 T,

CIELABU? triangle lightness T*

— * =

T* Y=L w nc™

T*cieLagur =59 (Y/Y)25-9  (Y,=18, ¥,/100Y<=Y,o)
T4 (3,6)=22,T* ,(18)=50,T* (90)=103

1
1Y =18

MN=3,671 Yy =00 T

BEY71-1A

logAY) CIELABu7

AY tristimulus value difference
Yoc=L*w - nc=100,

T*CieLasur =59 (Y/Y)25-9  (Y,=18, Y,/100Y<=Y,o)

log(dY) = (1/2,5) log[2,5¢,/58)] + [1-(1/2,5)] logY)

-
-

u=50, dY,=4,27, dY,/Y,,=0, 2377

.

application
range

'v,=18

BEY71-3A

log (AY/Y) CIELABU7

tristimulus value sensitivi
S=(@AYH) YomL*w =100 4

nc’
T*CieLasur =59 (Y/Y)V25-9  (Y,=18, Y,/100Y<=Y,0)
log(dY/Y)= log[2,5(Y,/58)] - (1/2,5) log{/Y,,)
= (1/2,5) log[2,5¢,/58)] - (1/2.,5) log{)

application
.~ range
2

BEY71-5A

log (Y/AY) CIELABU7

tristimulus value contrast
C,=(Y/AY) YorL ~100

nc’
T*CieLasur =59 (Y/Y) 259 (Y,=18, Y,/100Y<=Y,0)
log(Y/dY)= - log[2,5(r,,/58)] + (1/2,5) log¥/Y,)
— (1/2,5) log[2,5¢,/58)] + (1/2,5) logy)

T*,=50, dY,=4,27, Y /dY,=4
log(Y/dY)0,62 m,=0.2C z

e

application
range

'v,=18
¥N=3.600 Y =90 T

BEY71-7A
BEY71-7N

TUB-test chart BEY7; CIELABu,/t* & T* for Y/Y,, Yn=(Y&L*) WRGBNe
Absolute and relative lightness, sensitivity and cont@st8,42, 1y=1/2,5
M Y

THT* CIELABUY relative triangle lightness T*/T*
THT*, Yoc=L*w - nc=100,

T* cieLapur =59 (YY) Y259 (¥,=18, ¥,/100<Y<=Y, )
T*N(3,6)=22,T*(18)=50,T*y/(90)=103

L* =49, T* =50 —
application
range

1Y,=18
Yw=90

BEY71-2A

log(AY/AY,) CIELABUT relative

tristimulus value difference
INUNG YorL* vy - n=100,
T* CieLagur =59 (Y/Y)25-9  (¥,=18, Y,/ 100<Y<=Y, o)
log(dY/dY,) = [1~(1/2,5)] loglf/Y,)

BEY71-4A
log [(AY/Y) | (AYIY),] CIELABUT relative
tistimulus value sensitivity

SISu=@YMIAYN)y v =%\, =100

nc’
T* cieLagur =59 (YY) Y259 (¥,=18, ¥,/100<Y<=Y, )
log[(dYM/(dY/Y)y] = - (1/2,5) log¥/Y,)

1og[(dY/YY(dY/Y),]=0, m,=-0,39 T
T#,=50, dY,=4,27, dY,/Y,=0,2377 !
1 =18 0
YR=3.67 =90 T

BEY71-6A
log [(Y/AY) I (YIAY),] CIELABUT relative
tistimulus value contrast

CrlCoy =(YIBVI(YIAY), 2%,

nC
T*cieLagu7 T59 (YY) Y259 (Y,=18, ¥,d/100<Y<=Y,)
log[(Y/dY)/(Y/dY),] = (1/2,5) log¥//Y,)

log[(Y/dY)(Y/dY),]=0, m,=0,39

* =50, dY,=4,27, Y, /i 1
= 1 application
1 range

1y,=18
NNE3601 Ya =90 T

BEY71-8A
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